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STA 200 Lab 2


Research reports, opinion poll results, government surveys, and other numerical presentations are a staple of life presented to teach us, to sway us, and occasionally to trick us.  A goal of this course is to give you the ability to understand the statistical issues in the speeches you hear, the newspaper or magazine articles you read, the televised reports you watch, and Web pages you visit.  

Gallup began doing scientific polling back in 1932 when he predicted the victory of his mother-in-law (which surprised everyone else).  He founded his organization after that election and has been polling Americans ever since.  The Gallup poll we are looking at today has been asked of Americans since 1936.

Answer the following questions about the articles.  If you do not finish during the lab, then complete it at home and turn it in Wednesday.  

	1) 
	a. 
	Who carried out the survey?

Gallup

	
	b.
	What was the population?  What in this article indicated this as the population of interest?

All adult Americans with telephones

	
	c.
	How was the sample selected?

Randomly we hope since Gallup is considered to be a reputable polling agency (remember sampling error and margin of error measurement only make sense with a random sample). 

	
	d.
	How large was the sample?

1010

	
	e.
	What was the response rate?

Doesn’t say.  

	
	f. 
	How were the individuals contacted?

By telephone

	
	g.
	When was the survey conducted?

8/6/09-8/9/09

	
	h. 
	What were the exact questions asked?

· Do you approve or disapprove of labor unions?

· Thinking about the future, do you think labor unions in this country will become—stronger than they are today, the same as today, (or) weaker than they are today?

· Is a member of the household a member of a labor union?

· Which political party do you belong to?

· Would you, personally, like to see labor unions in the United States have – more influence than they have today, the same amount as today, (or) less influence than they have today?



	2.
	
	Carefully describe the parameter of interest in the poll you found. (There may be more than one).  

· True population percentage that approve and disapprove of labor unions.

· True population percentages that think labor unions in this country will become—stronger than they are today, the same as today, (or) weaker than they are today

· True population percentages that would like to see labor unions in the United States have – more influence than they have today, the same amount as today, (or) less influence than they have today.

The other variables (union household and party affiliation) are control variables.

	3.
	
	Did any of the questions above help you to identify a source of bias in the conclusions of the report? Explain.

· Not particularly.

· Gallup is politically neutral so the company that conducted the survey probably did not induce bias.

· The sample was large enough (and probably selected at random) so that the margin of error +/- 3% is of a reasonable size.  We can live with +/-3%.

· Undercoverage is not a major issue since most Americans who have some opinion of labor unions probably have a telephone thereby were eligible to be in the sample.

· Since this is a labor question, hopefully it was conducted at times of the day when laborers were at home to respond to the phone call.

	4.
	
	Do any of the questions above that were not addressed in the article give you concern about other potential sources of bias in the conclusions of the report?  Explain.

· How big was the response rate?  This was not addressed and low response rates can bias results.

· Were cell phones included or just land lines since many people now days have gone solely to using cell phones was an issue.  Now they include this.

	5.
	
	Does the article present a margin of error that is associated with the poll?  If so, what is that margin of error?  Does it present the sample size?

Yes, maximum of +/4% with a sample size of 1010.

	6.
	
	Using the shortcut method for calculating margin of error, calculate the margin of error if you had a sample:

	
	a.
	half as big as the sample used in this survey.  

M.O.E. (with sample size of 505) = 
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or 4%.

With sample decreasing in size to half as big, the margin of error increases by 1%.

	
	b.
	twice as big as the sample used in this survey.

M.O.E. (with sample size of 2038) = 
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or 2%.

So with a sample increasing in size to twice as big, the margin of error decreases only by 1%.So we can see from this that increasing the sample size decreases the margin of error but not by very much.  We have to balance sample size, margin of error, and the monetary costs associated with how big of a sample we get. 

	7.
	
	Refer to page 41 in your textbook if you need to in order to answer this question.  What would happen to the margin of error if the confidence level for this survey was:

	
	a.
	90%?

Remember, researchers can select the confidence level.  If we took many random samples, the confidence level tells us what percent of sample statistics +/- M.O.E. overlap the population parameter.  

Think about it this way, if you hold sample size constant, say at 1000, then decreasing confidence level is the same as saying that not as many of our sample statistics +/- the margin of error will overlap the population parameter.  The only way this can happen is by decreasing the margin of error.

	
	b.
	99%?

Increases margin of error.
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